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Uranium series
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¥ —4# Nuclear data

Prominent Nuclides in the Environment

Parert Gamma Gammas emitted
uc | ide Eneray Source per parent
(ke disintegrat ion
=) 186 e 0.034
242 B ] 0.070
295 Py 0.179
302 P 0.350
609 MBj 0.430
768 B 0.042
1120 B 0.145
1765 MR 0.147
2205 Mg 0.047
=iTh 240 MPh2R 0.490
338 Ehc 0.129
463 Bl 0.047
127 Bhc 0,074
911 BEhe 0.290
966 Bl 0.230
1588 Bhc 0.046
510 =T 0.096
583 T 0.300
860 =T 0.047
2615 BT 0.360
S 1461 0107
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Specific radioactivity

Specific Radioactivity

Radicelement  vemitteris) Ho. of Total photon Bpecific activity
emission lines yield (%) (Bg/g-Radioelement)
Thorium t2Th+danghters 84 423.8 4100
Tranium SR +danghters 5 26838 13237
Fotassium $0F 1 107 0.8
Firkegaard, F and Ldwharg, L.(1974) “Computer modeling of terrestrial

gamma-radistion fields”, Ris¢ Report Mo 303 (Danish Atomic Energy Commission,

Copenhagen).

Ha%ife%  Conversion factors

BEEES JUBEROIRRE
ppm, 2 2 pli/g pCi/g 2 ppm. %
U (pem) x 0,330 = (pCi/e) U (eCisg) x 3.03 = (ppm)
Thipem) x 0.111 = (pCi/e) Th (pCide) x 9.01 = (ppm)
k(%) x 8.32 = (pCife) ko (elide) = 0,120 = ()
pom, % 2 Ba‘ks Ba‘ks 2 ppm,%
U (pem) % 12,2 = (Baske) U (Baske) x 0.0820 = (pem)
Thipen) % 4.1 = (Baske) Th (Baske) x 0.24 = (pem)
Ko(%) % 308 = (Baks) K (Bafke) x 0.00325 = (%)
1 (pCi)=0.0370 (Ba) 1 (Ba)=27.0 (Ci)
— R ETEIRR
ppm,? 2 pR/hat T m pR/h at 1 m 2 ppm, 3
U (pem) x 0.62 = (pR/h) U (R % 1.6 = (pem)
Thipem) x 0.31 = (pR/h) Th (pRA) % 3.2 = (ppm)
K% x 1.49 = (pR/h) K (pRA) x 0,671 = (%)
pem,d 2> ny/hat 1 m nGv/h at 1 m = ppm, %
U (o) % 5.4 = (nGy/h) U (nGy/h) « 019 = (ppm)
Thipem) % 2.7 = (nGy/h) ThinGy/h) = 0.37 = (ppm)
ko(#) x 13.0 = (nGw/h) K (nGw/h) » 0.0769 = (&)
Ba‘ke = nw/hat 1 m nGv/h at 1 m & Ba’ks
U (Ba'ke) x 0.44 = (rGw'h) U inGws/h) « 2.3 = (Ba'ke)
ThiBoke) x 0.65 = (rGwh) ThinGy/h) x 1.5 = (Ba/ke)
K (Boke) x 0.042 = (rGw/h) K (nGv/h) x 24 = (Baske)
RS 1rad = 0.01 Gy
J ukR/h nGy/h
J o1 1.73 15.1 Joooof A R EE
WR/A 0578 1 2.73 4R/ BBFHRER
nGwh 0.0662 0.115 1 nGy/h: ERRIHEESRE




